Calculus I, Fall 2023 (Thomas’ Calculus Early Transcendentals 13ed), http://www.math.nthu.edu.tw/~ wangwc/
Brief solutions to selected problems in homework 03

1. Section 2.5: Solutions, common mistakes and corrections:
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Figure 1: Solution to Section 2.5, problem 68

Figure 2: Common mistakes to Section 2.5, problem 68

2. Section 2.6: Solutions, common mistakes and corrections:
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Figure 3: Solution to selected problems in Section 2.6, part 1
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Figure 4: Solution to selected problems in Section 2.6, part 2
3. Solution to Homework 03, problem 3:
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Figure 5: Solution to Homework 03, problem 3



